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am?(2000) | 131,951| 6,026 40| 83,061 48,890 315
V=3—YRAT LA
LPG 6m2(300L) | 131,951 | 8,845 50 | 58,246 | 73,706 498
ABmEkSE | 3m*2000) | 131,951 5175 34| 86,498 | 45453 334
am?(200L) | 96,568 | 6,026 40| 61,869 | 34,699 269
V—=35—YRATLA
an  |@mAR 6m2(300L) | 96,568 | 8,845 59 | 43,692 52,876 425
ABREKSE | 3m*2000) | 96,568 | 5,175 34| 63303 33,265 285
am?(2000) | 50,696 | 6,026 40| 34,396 | 16,301 375
Y—5—YRT L
T3t 6m2(300L) | 50,696 | 8,845 50 | 24,826 | 25,871 591
AWBmEKSE | 3m*(2000) | 50,696 | 5,175 34| 33,233 17,463 395
am2(2000) | 117,285 | 5,826 44| 170128 47,157 303
Y—5—YRT L
LPG 6m23000) | 117,285 | 8,351 63| 47,812 69,473 468
AWBRiEKSE | 3m*(2000) | 117,285 | 5,009 38| 173,296 | 43,990 323
am?(200L) | 85,835| 5,826 44| 52,398 | 33,437 258
Y—S5—YRFLh
3N | #@mhz 6m2(300L) | 85.835| 8,351 63| 36,028 | 49,807 399
ABREKSE | 3m*2000) | 85835 5,009 38| 53,641| 32,194 275
am?(200L) | 45,062 | 5,826 44| 29,412 | 15,650 360
V—=5—YRAT LA
T3 6m2(300L) | 45,062 | 8,351 63| 20,751| 24,311 556
AWBREKSE | 3m*(2000) | 45,062 | 5,009 38| 28,161 16,901 382
4m?(200L) 79,153 4,880 54 40,142 | 39,011 245
V=3—YATLA
LPG 6m?(300L) 79,153 | 6,592 73| 24,729 | 54,425 362
AB#EASE | 3m*2000) | 79,153 | 4,045 45| 43,630 | 35523 261
am?(2000) | 57,928 | 4,880 54 | 30,410 | 27,517 208
Y—5—YRFLA
2N | @A 6m2(300L) | 57.928 | 6,592 73| 19,027 | 38,901 309
ABREKSE | 3m*2000) | 57,928 | 4,045 45| 31,930 | 25998 222
am2(2000) | 30,411| 4,880 54 | 17,794 | 12,617 292
Y—5—YRF A
T3 6m2(300L) | 30,411 | 6,592 73| 11,636 | 18,776 430
ABREKSE | 3mi2000) | 30,411 4,045 45| 16,763 | 13,648 308




